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where
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is known from the input data (which satisfies the requirement that °

F’(l,q02)=0). In this way we are led to consider the moment pfoblem
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where ‘ : N

by = G+ («572)—-,3

The new problem has exactly the same structure as the original one,
2 2 . ‘ : ;
with Fn(qo )= Gn(qo 3 a(p ) and a — bn' By repeated iise of this

trick we can arrange (over some range of A which is big enough for

 our needs) that the modified C/4 are all positive. Indeed, with

sufficient repetition we can arrange ‘that the index 3 encountered in
(b) is always greater than unity.. This last allows us to avoid modified
Bessel functions of 'riegative'index.' The' latter are singular at the

origin and would be a nuisance for numerical work.






